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Part- III 

SOCIOLOGY 

Maxim urn : 80 Scores 

General Instructions to Candidates : 

Time : 2Y2 Hours · 

Cool off time : 15 Minutes 

• There i;; a 'Cool off time' of 15 minutes in addition to the writing time of 2Yz hrs. 

• Y·Ju are neither allowed to write your answers nor to discuss anything with 
c :~1 ers during the 'cool off time'. 

5 Use the 'cool offtirrie' to get familiar with questions and to plan your answers. 

lfl Read the questions carefully before answering. 

• All questions an~ compulsory and only internal choice is allowed. 

· • When you select a question, all the sub-questions must be answered from the 
same question itself. 

e Calculations, figures and graphs should be shown in the answer~ sheet itself. 

• J\1alayalam version of the questions is also provided. 

8 Electronic devices except nonprogrammr..ble calculators are not allowed in the 
Examinc,::ion Hall. 

<Til cOal~ CID6t!1300: 

• f{)1(0'31n91uS ffi)Q)mJmrm1mu n.J606)Q) 15 Q)Jm1ff 1c:BJJcJ0 63Jollu 6)6)So' ~6nSJWk01c0060. 

~'TI crumm>mrmu <Z.!2J88c\6!5BciOcOOu ~mrmcoo O{j)l:f'J®::>~m::>, Q)R6~0JCOJQ)Ow'J ~C./?JCID 

CLflm1!!lm>o mscmJ:::>C:Zm:J o.J:Js1~. 

l:l; ~CGTC)ct60Bcib n{j)l:f'J,COJ6(m@1m !!l6mJ <&.2J:JGc)60BciO f@!BD::>n.JJ,&C)do ruom51G006mo. 

G n{j)§!,:J 11.2J:J8,)60BUbd%")J,o ~®IDCOo O{DI:f'c!,®6mo. 

o 63COJ <&.2J :JGJm cn.J iD ~@ID(/)6)Q)IJJ,®~xro 6)®(/)6)6llfl'mSJarri»6 c:BJ lJll6flm))::>ffi'O ~n.J ~.2J:JGc\6!5l3~J,o 

· mt?J<&@ <&.D.J:JGJ mo1Jro1c&l m1mi' @6Xm 61<IDffi6JEi'lWIDS6<llc006nS®o6ffi. 

• c:BJ6TDGOOU o9:l~§ eJ6o9:lciO, .211L®60Bci0, LW:JollJ,c:BJciO, nmrrn1ru ~cmmro. ~n.J<;tj01ffi'O<m)6)(T() 
~6n'Som51 co1o%l 6ffi o. 

8 <2.2J:JGc\60T3cib !!leJCW:J§®m1eJ6o mm'Ocfu1m51§6~. 

• ~ L n.J :::>L w o m6 o9:l cJO 6) .2J ~ o en o c:BJ ::> cmm c:BJ::; am cfr6) 6 (] eJ R o 6 c:BJ cJO 63~:?16> cfu w 6~ 63 (/) 6 

. ~eJcfu'~tsosm1d ~n.Jcfuro6mr,JJ,o o:JroicW:'l::>onoglm'O ~n.J~w:::>w1G006ruocm n.J::>s1~. 
-· 
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1. Mahatma Gand4i is an example of 

which type of authority? . 

2. Keshav, who belonged to a poor 

. family, studied well and passed. the 

lAS examination. Now, he · is the 

head of a government department. 

Identify the type of social mobility 

that took place here. 

3. Which sociologists argued that 

religion originated from the 

attempt of man to pacify the forces 

of nature? 

4. In Appunni's family, linea_ge and 

property is passed from mother to 

daughter. Which type of family is 

it? 

5. Economic order passed through 

three stages. In ~hich stage did 

permanent se~tlement start? 

6. Choose the applied science of 

Mathematics from the given list. 

. a) Navigation 

b) Accountancy 

c) Social work 

d) Business 
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(1) 

(1) 

(1) 

(1) 

(1) 

(1) 

2 

1. Qln.OOX::. ~ :~: ~---- -~ :- ~ NOCl2f1<ll2,fffi ®'()WlcfuOffio, 

@'!() w' :£-: ::: ·~ r.:;:;- ~ :-:. '-:'? m oJl (5:) (f) wrm1 am 

2. 63ffi6 Gili1LB cfu6S6om. cc-cr o: '"-- :'!"Dowmow 

cxce:, CJC oJ w o1.8,r IA S o...: 6 ::&-3 :L c cpp:nfl. 

@2 cg <;8 :) cJO <ID1l a: C3 nO 0 63 (l) 6 (i) ;'.:... 5!') 6l Q) rvf 
ru.m6~6l~ ®e.Jrumo61'Tl. g)2oll6ls m;o ~cJl_g,J 

CT\.):)Q) ,lQ()J .Qje.Jffi:)malcfulOJ O{BlOJ" C'.f)Cffiu 

®1 <ll~..g,J01~ oq;'92,l0!2,cfu. 

3. Lo.Jcfu~®1 (J()c00"11cfu6l~ Ln.:.Ji®:6l<;l:JS6CIT®6 

ruomc~~~ mm6nS:l<'J6l~ oJrn1®mCIT®16l~ 

nD eJ m o w o 6ffi" m® o ffi'@ ru1 i'O 1'5 ru1.qJ, ®" 

oq; em" ru o B 1-'2j CT\.l m J, nD CJC 0 l C'Q.l @6YOl em 

4. <ID1l<;l:j2,~1CW2,6lS cfu2,S2,o6flJCIT®1am OJd(J() 

nJomcrurn,Jruc~o ffi.lJCITYm6o <ID1lamcoJ1am m1cm" 

D.l<&gil e.JJ, 6lS<ID061'Tl cfuSem2,<XnJ Ocfb2, fffiml. g)2 ml 

<1@®6 cmmo cfu656~6fll . crooo.Jlwommo61'Tl. 

5. ffi.l o cru CIT® 1 ce:, L ce:, Ql6m3 cJ0 m J, em 6 

n.eJ 3 6m3 ~~ ei ~ 6) s cfu s em 6 cg oJ:) w1 n(j) emu 

m mc~c00 o1 woo. g)2®1 am O{B® 6 neJ §wrm1 eJ o61'Tl 
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(1) 

(1) 

(1) 

(1) 

Q)ffi6nS:l,J® mill1ffi®:)Q)ffi) <lli®l ffi'@ffio@l_g,J®? ( 1) 

6. ®06l'9 ®em1al1c006em e.J1~1am m1em" 

w 6ffi1® (/() o L C'Q.l wrm16l ~ L oJ ex cw ow(/() o (~ o 

®1 (l) 6)6'f'm)S6miD n(j) '96 ® 2,cfu . 

a) moo.Jlce:,o.JlB,J 

b) <ID1l c00'"06fl'Scffi m;1 

c) croomJ,nDJ tnJru~wrmmo 

(1) 



7. a) Who classified groups in to 

membership groups and 

nonmembership groups? (1) 

b) Classify the given list into 

membership group and 

nonmembership group. 

i) Family 

ii) Schcol 

C ric~".:e:: team 

~·.·.1 Caste (1) 

8. Differentiate between open-ended 
' 

and closed questionnaires with a 

. suitable example each. (I+l = 2) 

9. What. helps an individual in 

shaping his personality - heredity 

or both? Justify 

(1+1 = 2) 

10. 'Anitha is a lady doctor'. Identify 

the two given statuses ofAnitha. 

Mention to which category of status 

does each one belong. (1+1 = 2) 
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7. a) (f) Gm 6m3 6l@. <lffil o (f) ®J 

<lffil o (f) <ll ® J ® l'o (f) Gm 6m3 c.iO Cl{j) rm16m3 6l m 

®roo ®1ro1.!1J® Cll'@roo6ffi? 

b) ®06llf ®rm1ro1.oo6mJOJ6l<W <lffilo(J)®J 

(f) 6)1) 6m3 c.iO ' @() 0 (f) Cl (1j) J (1j) (l) (f) 6)1) 6m3 c.iO 

ii) m)cfuJc.iO 

iii) lcfu1<00R 5'lo 

iv) g)60®1 

8. ®60mJ®6o <lffilS6m0)®6l1lO<W Cl.!lJOB~OOJeJl 

727 

(1) 

(1) 

cfuc.iO Cl<!lJOg)61.q,i, 630Cl(l)0 ~BOcillffiGm6m3c.iO 

crucill1®o Clrui0®1ro1.!3J oJl(J()BQl0<006cfu. (1 + 1 = 2) 

OJ~c£)(lj)1 ®J 0 

(1+1 = 2) 

10. '<mllffi1® 63ffi6 Cl~M1 ClQl.lOcfuuSOOGmu'. 

cmJ.!l.11~ <006l<;l:J§1 ro1.oo6rm <mllm1 ®<W66lS 

ro~ nJBoJlcfuc.iO ®1ro1.!1Jo16'f1ml) <lffilOJ Clffi®6 

®roo nJBnJlcfu@_06ffi Cl{j)@mJ'f6®6cfu. (1 + 1 = 2) 

(P.T.O.) 



11. "In short we have many intellectual 

benefits and career possibilities by 

studying sociology", the teacher 

concluded. Guess and write the ­

points the teacher might have 

explained. 

(Hints Two points each .from 

intellecttial and career fields). 

.12. Make a list of differences between 

animals and human society. 

13. Identify and write the type of 

marriage followed toda:y in most of 

the societies. Explain any ~two 

· merit~ of such type of marriage. 

14. "Sociology and anthropology are 

twin sisters." 

(2) 

(3) 

(3) 

a) · Who first put forward this idea? (1) 

b) What might have been the 

reason he told . so? (2) 

15. a) Indira G~ndhi National Open 

·University (IGNOU) offers 

distance education. To which 

type of education can we 

include the courses offered by 

IGNOU? 

b) Analyze the significance of such 

type of education in the present 

India:n society. . 

·K-21 

(1) 

(2) 

4 

11. ".a.J~i'06cB5J1c;tj06fulmOtn""o <rumJn.D(f()OLC'Ql o..JOtno 

6)cfu 06trs" mm2,c00" wo ro o~o 5ru'DB1.l1cm 

<Wl § a(:l §2, o 6)® 0<91 am ffil 0 W ~ (Q)cfu §.I,Q)6 61YS"' ' . 

· s"Lg,JfO o..Josmm~ m1roarrm1. Sl-8,J?O <lllJ.2...0~-8d 

Glo..JOCQ.Jl~cfucJb nB)6)mil~OOJOCQ.Jli'O,!,ffi"l1 ffi1cOOOo 

ng)('(J") ~r:Jn.D1-8,jo O{j)':?2,@2,cfu. 

ffi) 0 w d ®©~6 0 

04)':?2,(ril2,© ). 

<ll6n5Jo1l®o 

sru 'D BD1 d3> 

12. Ol.)(l) <lllffiJnO<Ll 2,o lllffi2,nS:l~ CTD!llJnC)(lli,O 

(Q) a:m1 e.lclffi .. <lJ,)@,)O<lll6m3~6lS 63ffic?, o..J3lc.S, 

(Q)~000c.S6)c?,c8:>. 

13. g;Qrmu lll1cOO <lllCllJoD6Ul3~1~2,0 6)o..J0@2,6)0J 

oJlC®2,S<l\l(ID oJl0.JOr..D 0"lcoll l'<-@©06!1) nffir:'') 

14. "(ll)Ol~n.DCJ()OLCY~<lJ,!,o mroru~CJ(J(f() OLOJ.lill2,o gQro§ 

<lllGln.DOGI'01Ql:)(0:)6ffi"''. 
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(2) 

(3) 

(3) 

a) ill'@)ffi06mv g;Q'D {ij@)CJ()CQ.lo «!@G,)ffiOCOJ1 n) 
l!l,!,GlCffiO§!, <lJ-8,j®? 

b) ®llGl\3nOo ®l)60136)ffi o..JOCOJ6<lJ0ffi6~ 

<B:>Oro6ffio nB) mnomJi rol c.680o . ( 2) 

15. a) gQm1ro (1)0~1 m onS:~6ffiam 630~6li0 

CQJ~6ln1c;0.J 'l<lll1 R1 CLilGJCO Q.~GJO<SJOIT'J 

wcmlm'() ill ce:, 0 ':Yv (ll) 6 cfu 00 m (()'3 cfu l ('(;'") 6. 

IGNOU 

6)nJS2,ClfrmOo ? ( 1) 

b) ffi) £il ce:, 0 e.J1 c.6:J gQ (11)) d m ffi) 11lJ n.O <Orm 1 am 
gQ COT OJ roo oJl <3,)0 cs ,)O<lllCOTm16)~ L o..JCrucEHID1 

(2) 



16. Differentiate between manifest 

function, latent function and 

dysf]Jnction. 

17. a) Compare the concepts of 

(3) 

evolution and revolution. (2) 

·b) Who put forward the concept of 

evolution for the first time? (1) 

18. Ker ala .society has changed into 

.such 2. condition that life without a 

:-::: .: ·::, ile phone is unimaginable : 

\Yith which factor of social change 

can we associate ·this situation? 

Explain . (1+3 :::: 4) 

19. "To avoid tension of competition, 

the grading system is intrpduced iri 

.school Kalolsavam." Is competition 

.. ::.~- ?cl' '=' U.S process that should be 

--: ~ ••- c:: · :=::::; : :=.~ ~- ~:c ur opinion. 

20. Identify and write the system of 

stratification that is peculiar to 

India. Explain any three features of 

(4) 

that system. (1 +3 ::: 4) 

21. Husband and wife adjust 

themselves and live together even 

if _ there is a difference of opinion 

and interest. What is the social 

process involved here? Discuss any 

three types of manner through 

-.vhich we can achieve it. (1+3 ::: 4) 

K-21 
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16. tnJcfusw&amo e.flmw&amo 6)6)0JW& Ciijo 

o.Qrm10J a:OJro®1<l>1--8.lu oJlU7JBill::>cOOt,cfu. (3) 

17. a) nJ<l>1Gm::>lllo, ru1<oJOJo, o.Qrm1ClJ6)CQJ 

®::><l>®Qldo 6)!lJ~cfu. (2) 

b) 'nJ<l>1Gm::>lllo' n{Drm lnJlc&1CQJ6) CQ) 

~Bdlll::>mJl nJ<l>1!lJW6)CJ:j52,(0'(l))1CQJ OJjdhU>1 

~(l):)GTT). (1) 

18. 6)Ql:)6)6)6YlJ~ Cln0::>60'0 g;Q~ :)aml) 

63<l>Cll cruo 6)WCJ:j R1 .!lll rrm1 <002, OJ::>® a: n..Jo eiz, o 

nJR::>arrm 63<l>J ne.J§MU>1a:e.Jd3£i' !licfu<l>~ ffi.llllJnDo 

m::>o1mJlm1cOO~rm6. cru::>Q.lJnDdlll::>fiarrm16)~ n4_3®u 

19. "marrum~16)~ nJ1m1 11lJOJcOOo 

63 ':P1 OJ ::M6) 6 OJ 0 cfl> !li ClJ srrs1 mr cB:. J cfb 

c&a:eJ::>arruOJarrm1afn · a:t(J)ruJlow cruooJlmomo 

Ill amJ<l>o 

63 ':P 6 OJ ::><006)<J:j a: ssrrs CGl1l nJ cfuScfu<l> Ill ow 63 m 6 

lnJlcfu1W<W::l<Z6m:)? ®Oaih~6)S ClllM~llcLiOCQio 

oJlU7JBQl~c002,ci'b. ( 4) 

20. &om®cmw1mn m1e.Jm1mnc:006rm ffi.lOQ.lJnDj 

!li@6micfu(l)6TT) - OJjOJCTUO fl@®u G.fj)ITDu 

®1 m1.!?;J o1owror 0{!) ':P 6 ® 6 db. CGl1l ®16) ~ 

fl@6)®8ib1Elc!,O - lllJffi)c!, lnJ!li®,)dh (6) cfr.,00 

('~.flU7JBill0c9ti)c!,CI:b. (1 +3 ::: 4) 

21. CID'1>&1lnJO<W60B~1 eJ.?,o ®O®un_l<l>j6ill3~1 eJ.?,o 

0Jd(Q)d0ffi.l60B~66n'Su. ntl)aih1eJ .?,o @O<l>,j\QJc?,o 

@&arrmoOJ.?,o 63<l>c!,lll1--8.!: gr,l'lo.Jl®o mmJl.oo6cm6. 

~®1@0 i&r?JS6l!B1<W1<l>1<002,ffi) . ffi.lOGlJo.Dd 

lnJlcfu1w _n{Drrmu? g)2®1a:e.Jcet>r· nB)arrm1~.!?.d<l>6 

OJOffi6~ n@6)®ffil1e.J.?,o · lllJrrD6 mi®l ce.,cfcl 
\ 

!lJ&-8d 6)!lJ~cfu . . (1+3 = 4) 

(P.T.O.) 



22. "Family is the basic unit or'society." 

Do you agree with this statement? 

Substantiate your answer based on 

the basic and universal functions of 

a family. 

23. The following are the members of 

Gopika's family. Classify them in 

the given table. One example is 

given for you. 

K-21 

(Father, mother, cousin, brother, 

brother's wife, grandfather) 

No. Kin 

6Yl.JmD6 

1 Rather 

nJl®OQJu 

2 Mother 

~ QlO®OoJ 
"=a 
(") 

8 3 Cousin e.9 

--
~ 

ce,cru1cm 

...... 
0.. 

4 Brother 0 
C!l 

cruClnDoBmcm 

5 Brother's wife 

(l1)ClnDOB<06l~ @Offi~ 

6 Grandfather 

m6 mrm.!l!D em 

(4) 

(5) 

ClCQJ 8 S Cl CQJOgtJjc66),!frD2,Cl6ll'SO ? cfu.!,S 2,o 6Y'.J COTQ)16l~ 

mm sl crJ..O om n.J m ru 6 o cru o /0 <1! (®"' ce, ru 6 m o w 

WroQl1160!36l§_ ®'()S1ffiillOffiQl0~1 ®Offi:,§_661S 

~(f!J)CD6l®m m~omJice,ro1~2,cfu. 

ru'lwmrm1am am>ru6lw rnHm1m1~,scm 

n.J §1 cfuCl2>1 ~0c66)2,cfu. 63ffi2, ~BOnDaJGmo 

®\TD1§66ll'Su. ( n.Jl®oruu, QlO®OQJu, cfucru1®, 

Type Degree 

M1LW1 

consanguineous primary 

ln.JO l.O allcfuo 

6 
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(4) 

(5) 



24. AJ1 American couple adopted a child 

who was abandoned in the 

'Ammathottil' of District Hospital, 

Kottayam. Slowly, he acquired the 

American culture. Now he is an 

officer in the American Navy. 

a) What is the internalizing 

process the child had 

undergone? 

bl Explair~ i-:s four stages. 

25. a) 'Abandoned by sons. old man 

commits suicide'. 

b) 'Debt trap -businessman dies 

taking poison'. 

c) 'CRPF jawan killed in encounter 

l':ith terrorists'. 

i) Analyze the given cases on the 

basis of the theory of suicide 

propounded 

Durkheim. 

by Emile 

ii) According to him, how are 

suicide and social solidarity 

related? 

K-21 

OR 

Critically evaluate the theory of 

social evolution and classification 

of Auguste Comte. 

(Hint : Law of three stages). 

(1) 

(4) 

(6) 

(2) 

(8) 

7 

mroaril6l(O'(lj)Ogle.nam m1m)' e.J@l-8,l &h6ormm16lm 

63ffi6 mm~mro1cOOril> Bcru®1&hci0 B6l(O'(lj)S6(0'(lj)6· 

lc£h~Ql6m mmruril> mm~mro1cOOdO cruo~oroo 

mm~mro1cOO® ~mru1mJ16le.J 63f06 630n.Oicrui0 

(ij@)Gn). 

a) g)2ClJ16ls c£h6§1m>1Cll'll cruo@ru1.g,J, 

g)'2':l'6c£h1~-8,jroaffi ln..llc£h1W ClffiCl5l06Tl)? 

25. a) "mc£)6)~oell'll ~~nJcMilc006l<J:l§ OJJB.D­

n.Jl0!oo1 ~ClJ6lffiOS6c001" 

b) ."c£hs6lc006m1-m.Ilcru1mW£::>ro® o.JlnS:lo 

c£h<91-8,l6 mro1-8d6". 

c) "CRPF geruoril> <IDiLruruoB1£~momJ1 

ntBR612l63J mro1-8d6". 

m~cm6 cruoa:h~1c£h nJl® ru::>/O(O'(lj) 

®e.J6lc00§6c£h~::>61Tl' 12l6c£hglm'r> ®cm1ro1c006<m®. 

i) omm1Cll'll CUli06l.flm16l~ Cll@<mlo.O®,)O 

cru1 B..ll0()'0)0J612lOW1 6'!1.J CTW6l<J:!S6(0'(lj)1 

g)20J6lW o.Jl~cfhe.Jmo 6l.!l.lCJlli&h . . 

cruom~o.Oj 6l%)cfhjClJ6o Cll@<mlo.O®,)W6o 

727 

(1) 

(4) 

(6) 

®a:m1ro'O %)6_l5l36lm 6'!1.JmD6l<J:jglro1c006<m6? ( 2) 

ana 6l ~ ab 1 ai3 

( cru~.a.Jm :- l®1o.e.J§ m1wmo ). (8) 

(P.T.O.) 



26. Research is a search for knowledge. 

It is a systematic process passing 

through several steps. Discuss in 

detail, each one of them., 

OR 

a) Our parents warn and correct us 

when we do wrong or disobey 

them. 

b) If someone commits a crime, 

police charges a cas.e and the 

court punishes him. 

i) The above examples indicate · 

two types of social control. 

Identify and explain them. 

ii) Discuss the role of at least four 

agencies of social control. 

· K-21 

(8) 

(4) 

(4) 

8 

2 6. ®rJ01 oJl ffiJ,~OJ 6fl'S1 (IlJ 6~ ®()a: ffij nll 6J'T)Q) 06ffiu 

w~OJnS::16ffio. w~ru nll 6'ffio Jh,)@,)QlO CllJ .2 . .n eJ 

. ileJ§6m3§_1elJ6>5 JhS(ffiJ, . ClnJ0~Jh6/r5(5)~6flSu. 

rul m G m o CllJ1 

aJI!)6) ~ m, 1 <il 

a) .6>CID8J,Jhc.ib 6>.:2 .. H~6~ffiJOv~ QlO <OlOo ... n@:) 

cOOW (l))JcMJi®u 6)-:u~6JhCllJJO 

®1 mJ®IDJ,JhCilJ ,?,o 6>.2.1 ~cm2,. 

b) ((lW6>roa:b1eJ6o Jh6Rcm,)CIDJo 6).2JCilJu®OiU'IJ 

~nJOefi<T'J' ~Jhml ro~m.)Rffi 6J.2J~JhCilJJ,o 

~Jh::>S@1 m'l<W:flcOOJ,JhCllJ6o 6l..2.iC:EJ6rrn6. 

i) Ql.?,cmglm'll nJ0611l'r[)1§2,~ 280nDro6TD6r.BCI1J 

ro6fr56 OJjCIDjcm ®roo cruomJnD<> m1wlmD6'f() 

roicm1Jh§_06TDU. (ll'(()()J CID1<1l1.q,J,016l1ITO)u 

o.J1CRJGQ)0c006<fu. 

ii) · cruomJnD<> m1wltrmGm Offi2!.!®cru1,s,§.1am 

Offi 6) ® ffi, 1 eJ 6 0 m :) 6) eJ GJ;I;l rom16> <Vl nJ ffi,u 

.!l..Jill-8,j61.2J~<fu. 
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(8) 

(4) 

(4) 
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